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VlSerhesler B.Sc. Degree (C.B.C.S,S. - O.B.E. - Begula/Supplementary/
lmprovement) Examinalion, Ap.il 2024

(2019 to 2021 Adrhissions)
COBE COURSE IN IMATHEIMATICS

6813 MAT : Linear Alsebra
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Beg. No.

Answer any 4 quesiions. Eech

1. Deiine subspace oi a vecto

4. Th6 characte.islic roo
chahctedslic roots ol tho ma

2. Whal is thedlmension ollhe

3 Stete Dinension Theorem

2xSmairicesoverR?

Answer ary I queslions. Each queslion canies two ma&s

6. Lsl v = i(a1, a2) : a1, a2 € R). Deline (a1, ar) + (b1, b2) = (a1+ b1, 0) and
c (a1, a2) = (ca1,0). ls V a vecior space over R wnh bese operalions ? Jusliry

7. Prcve thal lhe sel ol all symmelic matrices of ordsr n is a subspace oi the
vecror space oldllsquare malrices of o'de'n

trgj:rlPt>
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8. Check wherher rhe set {(1,-1,2), (2,o,1), \-1,2,-1))

l t lfi Ill l llllll
is lineany independenl

9. G ive an example of lhree iinearly dependent vectors in R3 such ihai none oi
the lhree is a mutiple otanolher.

f1 23l
1o Find the,anl, or mal.xA. *n"," n=lz : +1.

lorrl
I 1 - Show thal rank oi a maiix, every elemenl of which ls uniiy, is 1 .

Show hdr -:q 'qiieJiredzb\, tq.art '1a14t," ) sd)in at
translo.maion- \/7. \ I/ - \"\/V \ il-i.z \-2

lja.-+-6,-a, ) rs a ri

_ +.r_ ):+
r J Eroain l.e cond lron lor consisrencv an?ind'u[- ol"olLdor o'a noa

,. .*,:".".;*#ii*.$i#ffi4gf*l
^*,**".**,*sAM

rromooeneo,, rrnear svste miGoiiiofi-ax= e.G n?6
'd. Lel-.V .Vbea ned' l;;n-sfor mario_ Fiirai l'_a rar qe r.d 1ul spaceol/po

k:nqr.rm,ii.. :..r i.ienrirv t-;;i ldari6h:"

'\. p,ove rhar 'he EiqFn vdr,", ti""rHff"=F"-" a,- e,r' e, zero or -.'rr

r-\ @#_ ,2,\
{<e<k"Aruws any 4 ques ion"X%\*"ro-ca"'e2^"g2\ >

17 p ov- rhrr arv:nle.secri;'d1!Jb}Fe--f"sJ(a9;cro, sp;c" v A a ,Lbspace or v

18. Suppo,p rhdr I a2 B-is.inea'.Ir',0)-,1,4)"noTr'.1)- 12,51.w-al s
T12,3),? sToneto-one?

19. Let T: B2 + F3 be delined by T(ar, a, = (ai - ar, ar,2ar + ar. Lel P be the
s "ndd'd 

oder"d oals ror F a_o /. { Ll o). (0. t, \.12.2 31

compute {rl;.
20i Under whal condition the matrix A is 3 ? ls il possibe ior

21

1

1

0
lhe rank to be I ? Why t A



lllutiltiuulfl l lllflIlll Ill l

21. Solve lhe system of equartons.
x- 2y +32=A
2x+y+32=0
3x.+2y+z=A

veclo.s ol lhe matri^ A = 
s al

11 2l

llnd A2 using Cayely Hamillon iheorem and then fi..l 43
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22. Fird

23. lf A
[1 2-l=l-, .l

24 prove ha' lre "- ot a[ T " n .n-iturncEfirlrFTnes romaretdTisaveclor
cpdce ove, r w.h r.e ooerario'ff5r ffiri,*il..."a,
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^l25. Findthe inverse ol /

26. Find the values oia

x+2y+22=6
r+9y+az=bhave
1) no solurron. -/
,\ ni^,,- "^L ^^/-,
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27. Uslngtayley Hami{ton theorern findthe inverse ot A ;l
2

13:
L, ,


